[ Efficiency vs vertpos |

tr

=
3]
>

efficiency vs

Ratio

Efficiend

efficiency vs vert z

Ratio

0.5
0.45

I
~

0.35

o
w

0.25]
0.2
0.15

0.05

................................................

................................................

.................................................

...............................

o

ks

L
b (IR (N RET. 11
Heds. 4 ... 4

0.954

1072

101

1

10 0
TP vertr (cr%)

2

—=— DQM_original_1000evt
—e— DQM_fitted4_1000evt

0.8

0.7

0.6

0.5

0.4

0.3

0.2

0.1

e

0

[ Efficiency vs. sim PV z |

~0.05
>
80.045

S

=004
$.035
&
£0.03
§.025
[J]

0.02
0.015

0.0
0.005

Ratio

10

20
TP vert z (cm)

...............

...............

...............

1.9

=

o
©

&l

=
o

5

10 15
Sim. PV z (cm)

30

20




	Contents
	Page 1


